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ENVIRONMENT AND PUBLIC HEALTH (Non-Core)

TimeAllowed:SHours Maximurn Marks:70

- 

!- !!

INSTRUCTIONS TO CANDIDATES

lmmediately after the commencement of the Examination, you should check that this

Booklet does noi have any unprinied or torn or missing pages or items, etc. lf any

of the above defects is found, get it replaced by a Complete Question Booklet of the

available series.

Write clearly the Questicn Booklet Version Code A in the apprcpriate space provided

for the purpose, in the OMR Answer Sheet'

Enter the name of the Subject, Reg. No., Question Booklet version code and affix

Signature on the OMR sheet. As the answer sheets are designed to suit the Optical

Mark Reader (O.M.R.) system, special care should be taken to fill those items

accurately.

This Question Booklet contains 70 questions carrying equal marks. All questions must

be attempted. Each question conta-ins four answers, among them one correct answer

should be selected and shade the corresponding option in the OMR sheet.
*

All the answers shbuld be marked only on the OMR sheet provided and only with a

black or blue ink ball point pen. lf more than one circle is shaded i wrongly shaded /

half shaded for a given question nd marks will be awarded'

Questions are in both English and Kannada. lf any confusion arises in the Kannada

version, please refer to the English version'of the questions.

lmmediately after the final bell indicating the closure of the examination, stop making

any further markings in the OMR Answer Sheet. Be seated till the OMR Answer Sheet

is collected. After handing over the OMR Answer Sheet to the lnvigilator you may

leave the examination hall.
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lo***, dal-1r e,3. rao. I t3. o. a. / D' aas' a#f '

dotd*, ed{i idro?'rd 2023

{,:,ur,:raxe) (o&t$q)
(2014-15 a$d: doddddod )

doid d:d: ;ndru&d eid'oe{ (Non'Core)

eUirQrrl€d i-odddsb

1. doe{agdcdrtrood ddpde dr {dodxdo$f} d}Bd.6dd erdaa doa&d e,a'd) cs?dde dt,: "ae.:-Od:{d:

eorarlddloedr doegfdd**o a3:eod *rnJo* dned dod:uodo- uddlsooed:Fra od'ad:d dodBearald

cd$dodlldodrdlddo$ddd&.. 
r^; _or-Jr^.

Z. dd*dldo$ a6ro" doea" A osq (OMR) w{d d$So$O- era'ta*n udndond:d i.lag *dd0-

udo$sjedr.
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1. O* stands for

a) Oxygen b) Oxide c) Ozone d) Oxygen atorn

Oef +r:,r didJ
a) um-ailr b) ==.ra c) z-ei^eec-r d) ud^'^xldd::re

2. Deforestation generally decreases
' a) Global warming b) Drought

c) Soil erosion d) Rainfall

etdra, -Ddaod o$Ed6b da&cJDrilgd ?

a) qirtoeed oddnd b) taj$
c) qJ,o ddde ' d) abd eoe$t>ad

3. HIV is usually detected by

a) ELISA test b) Hybridisation c) Gram staining d) None

.)2d6. ac. &. o$d1dod:bG otld AAad

a) aO;;a do*{ n} {qQdedo' c) rgc {eaorr d) c3>ddo ee.:-

4. Black lung is the occupational hazard to

-3-

a) IVliners

c) Pesticide applicator

a) 4,o. wdoreAd$e)-
c) ga;iodd :,,odat'sddde|

*i

5. The rain water mixed with acids is called

a) Acid rain

c) Cyclone rain

udlpod doad d'la edrld: dJddDn t'ooolr:$dd*
a) ua$_ub$

c) {doeo'a$d

D* f o o n' dd:d, ol:d1 dddo d ru do, e nrld0-aa eaudJ d)

b) Navigators

d) Agriculturist

b) dd::d dorDcddd%
d) d*& wdgenrldO_

b) Alkaline rain

d) None

b) ue.r*eJro" d:d
d) Cnfidn eo_

-J.- Jsro!f,?3u.

SPACE FOR ROUGH WORK
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6. Amoebic dYsentery is caused bY

a) Virus

c) Protozoa
- - 6- J ^t^- : 

-!^^: 
J 

^9.. 
-

ljgtuiO ?.rtJI\ UvUl:;^')oLJ L-iw

a) idFf

a) Smoke + SPores

c) Smoke + Water vapour

-* 
-^!*neJ{ )- c^rU(J\J

a) drDri abQ dla,eq

c) d,ari d>d: atod e:a

9. Name the disease caused bY virus

a) AIDS b) Cholera

b) Bacteria

d) None ofthe above

?,Jn 8JO.d'
a3:eod o3n$dn eo-

b) Smoke + Fog

d) Smoke + Dew

b) 6rld *Q +i-r
d) dJari tildr atrd)

c) Diarrhoea

c) dC::ocr::

b)

d)c) dg,de,edte;P

7. The main energy source of environment is

a) Solar energy b) Chemical energY

c) Bioelectrical energy d) Electrical energy

dodddo- du$ramn dod> ud:d di cradd:? 
.

a) naddg a * 
b) mmoJ:ld.Ag

.) x** BerrogS Ug d eddil"Jd dg

8. Smog refers to

I

{o}rnod ud:d*deeri
a) eq b) aae-tot

d) Typhoid

$ €@q
10. The child Labor (Prohibition and Regulation) Act of 1986 prohibits the

employment of children below the age of

a) l4years b) 15 years c) 18 years d) 16 years

SPACE FOR ROUGH WORK

zrro 6aa)rd raoi: , l eeo d -gCId pqdoJr$ d#nd *ddsdlcc$ri dftyY*Fc€o-?
a) 14 ddr o 

n) t-s ddr 
w 

c) 18 ddr ' d) 16 ddr

A
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11. An example of non-communicable disease is

a) Asthma b) Cancer c) Diabetes d) All the above

a) Vitamin B b) Vitamin C c) Vitamin A

oa$ d.:d:d:dd* xed*{d doddcs:od er0o6Erbdd

a) doinoc3n

deddod dodr dddeadd doddou:od ud:d doedaa--0
a) aqrooj: b) ?,Jea c) e&eil:cln

15, The blood group of universal donor is

a) AB b)o c) A

nadrgd dlcnndd ddd rboC
a) azr d:o{; '*i b) i. d:o-'.q) c) a $oS

16. The chief function of Vitamin K is to regulate

d)

d)

na orgil:dde;_a dn eril "acb eroem dd#
a) e{dn b) mr{r

12. Night hlindness is due to the deficiency of

a) Apatite
c) Resist infection

dedd{-d c$ dl$d tao$r uddlao*ogic{d.:
a) deror dE

c) doerl adoedd dt

a) al^]tudr ?,D b) aultu6f xr c) eulaJilr o

13. What disease is caused due to deficiency of insulin ?

a) Diarrhoea b) Diabetes c) Cholera

c) aae.:cn

eol:CIN'd doddc>od eruouori:C &aerl
b) d:f>d:ed

14. Lack of red blood cells in human body causes

a) Diphtheria b) Dysentery c) Anaemia

cB - 555

^\ -!--).-+..*fUi c^)eLPJsJviOJ d) d:e0d Dsj&

d) Vitamin D

d) aFJtue{ G

d) Atlthe above

d) d>eCId aeJdp

Myopia

aJ:Coao::

d)B

cj) s d:od

b) Blood clotting

, d) All the above

b) dg ddJeila
d) &eOd eeq

A
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17. Genetic materialfor HIV is

a) RNA b) DNA

c) RNA and DNA d) Chromosome

aLf.ac.a.ri tadeao"ad ed:dc&ecJ: d-^D odJDdeb ?

a) uo.ao".a. b) G'aS'o'
r; oo.oo".a. d:d: a.ailr.a. d) Sgdroednedy

18. Wildlife (Protection) Act was passed in

a) 1972 b) 1982 c) 1952 d) 1e55

ddr*ea dodd.p ato3>1:3rq?Pori dod ddr
al 1972 b) 1982 c) 1952 d) 1955

19. Thermal Pollution causes

a) Release of heavy metals b) Warming of aquatic system

c) Cooling of aquatic system d) All the above

asl d>Odaod
a) pd eot6*c, ?p6,ddo3,4,gd b) dCDd CItuo$i/DdC)

.i xdr6 dmarrbd* d) ai:eod as$Ja

20. Dialysis treatment is related to malfunctioning of

a) Thyroid glands b) KidneY

c) Lungs d) Pancreas

dedd odDd Aadd) drderdn*driaerorl doJDCItuxr dndmd{d ?

a) {cnou:d {oQddc bi abo$'lod
d) c>edoededraorfc) m*xdoeu

21. OncologY is the studY of

a) Bone b) cancer c) Nerves d) Diabetes

eaprd m-$; edd edol:d
a) drod b1 uarqo c) dd 0 an*d:ed

SPACE FOR ROUGH WORK

A



23. The normal blood pressure of a healthy person is

a) 100/90 b) 120/80 c) 50i100 d) 180/120

edoer$dod ddc: sadxd, dEdragd

c) 501100a) 100i90 b) 120/Bo d) 1801120

l|||ffiflllllffilllllllllllllillll 'r'

22. The aim of pulse Polio is

a) To provide good health

c) To increase mental abilitY

de4dne0o3o tt oJ:r!d:d d:o

a) eru{$ udoe{ &eGE

e) atrQd dg dqd

24. Biogas is a mixture of

a) Methane and Carbon dioxide

c) Methane and OxYgen

{Jed epedt edd a:9ea

a) a:edeo" d:{ eonarrd q od^rd
c) a:tSer d:d: u*;xdd

a) Syphilis b) AiDS

ecj: ei.ofld tioi:ei ee'eJ..
a) *40xn b)

b) To avoid deformitY

d) To supply food

b) eodd*de.:rd dd
d) e*otd iduox:

b) Oxygen and HYdrogen

d) Butane and ProPane

b) ud>-rdd aid: xe.rzgdd

d) uoru3eo'd:Q dgdeo*

cB - 555

d) Gosmic Ray

d) o:ga" tdsa

d) Gastritis

d) ror:gulx"c^JL9-
..]

25. The rays which depletes the Ozone layer is

a) UV Ray b) lnfrared Ray c) X RaY

i;dpeo" ddd dstmr{u: rodeaarod *dea

a) eB dedd Sdra *' b) "ae-qtsda" SCea c) ft*dra

26. The following is not a sexually transnnitted disease

c) Gonorrhea

c) rvadfoeoos)

SFACE FOR ROUGH WORK
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ZZ. The first internationai protocol to protect the ozone layer was propounded at

dode.:d Lcoeo" ddd d*dri dzsdaad eoddoa.gecl: {geuto€5aef

a) dno$od:ef dD€C]ae6:aef b) Ao$sl @,tdneraer
c) d:rUtoe'-.tgeUSoeaaef d) uoUirded'-.A9e€&De6"ef

28. Abnormal reaction of immune system cause

a) Montreal
c) Kyoto

a) Allergy b) lnfection

&Cret'd dt*: {doed, qdd, ardra

a) ee;cr

29. WHO refers to

b) ;ioeodo

a) World Health Order

c) World Health OxYgen

wHo d a{ud dod
a) dry der esdrcf
c) dry def eJ8^x6f

30. Jaundice is due to the malfunctioning of

a) Pancreas b) Liver

b) World Health Organization

d) World Health Orbit

b) 35': E5 sr1i-{r{€ilf
d) ds;r 6q u%F

b) The Vienna

d) Cartagena

c) Disease

c) acud

c) Kidney

c) Bacteria

c) aarAeoc3-t

d) Good health

d) l';$d; uaoe{

d) Heart

d) €dod)

d) Mouse

d) eo

d) 1eB1

d) 1981

s;ind etedli rcdra;sri:d edd:drd mci:rd ecd
a

a) d;eC,tededocd b) *dxdracd c) clo$aJoci

31. Tuberculosis is caused bY

a) Virus ,*,i b) Fungi

d*o3:dned$ "adood en:oonrbdd 
.

a) dr# b) ae)eoqi

32. Ebola viral disease was first noticed in the year

a) 1980 b) i976 , c) 1984

au3raee {d;r EaoercJo1:: ddd:emn aarJad ddr
lr\ 1QRO b) 1976 c) 1 984

SPACE FOR ROUGH WORK

A
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33. UV raYS are responsible for

a) Skin cancer b) TYPhoid

-5J-J^9 oJ^^J".,)- *<i :{m
lj'31J:t-rY 6UL:f IVJ qLJo r]\J'tr

a) 2,3*r -rif b) Edcraed r d

34. Goitre is due to the deficiency of

a) Fluoride b) Chloride

r{ddod draedd qeid doddou:ooarbdC

a) dtrqd b) doed,ef/ me)

35. The vector for transrnission cf r"nalaria

a) Male anoPheles mosquito

c) Male rat

:<.oeohol:i ;1-d gJ i,$J8] ;;65;^.IJJ\l/\.,de wv

a) uinqpg:= rI:ei: -^.sv

c) dcd; e0

36. insulin is secreted bY

a) Liver

c) SPleen

:d:ef ui;* !-F:-* r,:q
a) -:.rdadmcd

^\ g.."i
Ul 9!\qu

37. Bio indicators of air pollution is

a) Algae b) Pinus

m oJ::d>e)ddd €ad draddddodd

a) m:,.3 b) idr

-9- cB - 555

c) Asthma d) Diabetes

c) ddB d) tu&Cr$d,

b) Female anoPheles mosquito

d) Female houseflY

b) ua*e, :r cr:1lnti
d) smi&tm

b) Pancreas

d) Thyroid glands

b) a.:ed,owedocn

d) frroci:d 4oQ

c) lodine

c) uc3,eeeif

c) Lichens

c) der*d.a

d) Bromine

d) d€,ta.Do"

d) Fern

d) woend

I
,]

1

A

SPACE FOR ROUGH WORK
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33. UV rays are responsible {or

-9-

b) Female anoPheles mosquito

d) Female houseflY

b) ea*Olr cs;-'*oi
d) sra:-atm

b) Pancreas

d) Thyroid glands

b) ;s::erolrroocn
$ denca;d 6oQ

cB - 555

d) Diabetes

d) tu?,,Clod,

d) Bromine

d) z3€,t'iro"

d) Fern

d) xoenC

a) Skin cancer b) Typhoid c) Asthma

l

I

c) dd:';

c) lodine

c) edoea$

c) Lichens

c) doid.t
"g*J ^JWU

esdedd sdradet edd* ta dra

a) add:r -r{d " b; *dd'aed %d

34. Goitre is due to the deficiency of

a) Fluoride b) Chloride

dddod Coedfl iidd d""ddcuoem/Pdi

a) {p-eQ,a" b) Aqfd,rea"

35. The vector for transrnission o{ rnalaria

a) Male anoPheles mosquito

c) Male rat

d:eJeoCn ddde-:: -gd''D aadd

a) eoa.P0es" dod> i'rodo

c) dcd> "ae)

36. lnsulin is secreted bY

a) Liver

c) SPleen

Edr^of =q dDPd do+
a) a$a&aori
c) .ledt6

37. Bio indicators of air pollution is

a) Algae

mo$:dnOd,
a) aaa3

b) Pinus

-,.ioz.Jdddodd

b) ddFr

A

SPACE FOR ROUGH WORK
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3g. A balanced diet should have the following required portions

-10-

a) CarbohYdrates

c) Vitamins anci minerals

eru#Coenie-D ed:aJ:e q&d m3f z'see'rd dd

a) 4o *#gq" b) 20 *#ge' c) 100 *-l!.9{

41. Noise is measured in

a) Kidney

c) Teeth

dla-edo:.,xe& od oa PrtndrB dr:d e' od

a) d:o$adaood
c) du:;{tb

j*dore.rd uaadd'adood dna&$d
a) ddrd -:r{d-J:

c) .)$a:o" *Q a:Cud*i:

39. "Knock-knee" syndrome is caused by

a) Fluoride Pollution

c) Mercury Pollution

"olao-Q€" aaor:eSoj:: "add dos6adJ

42. Fluorosis affects

a) {q5dra" CDOdd

c) aad# dn0dd d) edrcrdr0{

40. Permissible thickness of plastic cover used is

a) 40 microns b) 20 microrrs c) 100 microns

a) FrequencY b) Decibles c) Do[:son

dud 3ed,do$$ edoJl:d d:oed>d
a)'ddor6odd 

o*' 
b) dauea c) aau;r

b) Proteins

d) AII the above

b) {g$ed:dd;
d) d:e0d aod,o

b) Land Pollution
'd) Arsenic Pollution

b) ?.ia dDOdd

b) Bones

d) Both b) and c)

b) drrDd

d) b) *Q.) addo

I llltllt lfllr lill illll lllll llll llll

d) 10 microns

d) 10 *-Fgq

d) VelocitY

d) ded

A

SPACE FOR ROUGH WORK
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43. An example for water borne disease

a) Malaria b) Hlv

44. Vitamin A deficiency leads to

a) Blurred toes and fingers

c) Night blindness

'A' s.;rcdd doddcr:cePfud iooj:
a) tidd: mdn mCdd r.ad
c) "ad:d.:dru*

45. Ascorbic acid is rieh in

a) Milk, curd, butter and cheese

c) Citrus fruits

c) d>eCr:d dm:;{d:

HIV stands for

a) Human lmmunodeficiencY Virus

c) Heavy lndustrial Vehicles

-1 1- cB - 555

c) Cholera d) Asthma

Oeos er0oiacC didcbi mcudn rid: u;aoddd
a) d-.deo,*n b) azf.r.;. c) me;o

46.

sJED*zD rtr e:al>dl "add0-el6da; nd:$ d
a) iau:, draid), X{d:d; ncal b) ddmo d:Q dm:;{d.:

47 . The percentage of f resh water available is

a) 71%
-f-t.+ ..o-?
iJcJvl I \J!P".

a) 71"k

HlVotr e4d drad

a) dorabo" "ad&drad+d{crq{#
c) da "aodr od:ef dbdq

tub &(od dedeoa -'g;

b) 100%

b)

d)

. ^i^- 4 -- -,- --- -J i<
,rCLlJi^:o:,.1- q-9)rJ- l"J UU

Jl

6G";Jil Z,3iio' ie'td- r,u^l-
LA1 Y,

b) 100% c) 2.5Y" d) None

r^iU.J.^J c^Ud L e,

c) 2.5% d) eJ>drd.,t ee,

d) CCla

b) Anaemia

d) Scurvy

b) dge"edo

d) d,ar'

b) VeEetables and fruits

d) EEg

d) d.od*j

b) Hindustan lnter Virus

d) Human lntervention Virus

SPACE FOR ROUGH WORK
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48. Fruits and vegetables are rich in

a) Minerals b) Vitamins

iry,*q dda-ooddc qdrlqod doad:dd

a) fioailot' b) eoaodrld':

49. The World Environment Day is celebrated on

a) otn June 
rYrrvrrr' -;i 

.ilAugust c) stn June

ran *uxc odddluo* Y*uiTd'gd
a) xoo" 6 dod>" b) unf6 Ot*' c) uod 5 dod>

c) Both a) and b) d) Chitin

r lllllll lllll llll lllll llffi fill 1ll1

d) d,r$d"ddr

0 21$ MaY

d) d:e 21docl:

d) lodine

$ udoeao'

c) a) dr+ b) adta

c) Nicotine

c) &d.oeu3o"

50.Chemicalsreleasedinthehumanbody'inresponsetoallergensis
a)HistaminesbiAntihistaminesc)Phenotsd)None
doeodcarr:*:J*d'd'4ldeddo-wd'goJ>itraooxaoJ:&d
a) b-#.Jq, n; oro'':a{*'ri c) doae1' d) o$$do ee-t-

51. Lower level of platelet count in blood is the symptom of

a) Typhoid b) Malaria c) Diabetes d) Dengue

dgdO- @of,dr'friq' ioa5, aed>$atrbd;d di doedd o{ea

a) eddraed r*d b) d:eJeooh c) ':'rbd:o$ d) do't"'

52.AccordingtoBiomedicalWaste(ManagementandHandling)Rules1998,
waste snoutO not be stored beYond

a\ llzhours b) 48 nou'* c) Tlhours d) 96 hours

ddad MG Eurdd (dn demd>ouf abd: oa'oQpn.) erQcoJ:dr' 1998 d {aad {,ad

%%ddq *"ui*"*r'd:m d dod edP

a) lzrlouirid.: b) 49 aot}n*o c) 72don,3dd: d) 96 dooJddc

ffi. The stimulant present in tobacco is

a) Caffeine b) Tannin

domsdod:d w$eudra? "o1 -b) Esdeo"a) d+o"
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54. World AIDS day is celebrated on

a) August 1 b) December 1

add AIDS adddluoC,: eiz3oxbded

a) udxil b) croucr 1

-13-

c) November 1

c) iaicz;cn 1

cB - 555

d) July 1

d) r:

Protozoa

{geu3odoeao

1972

1972

None

o3>{do ere.:_

Decibel

:ig o r ctrw^J(/vv

55. Polio-myelitis is due to

a) Fungi b) Bacteria c) Virus d)

sodo" dedd0_ deriC:orc olnasd doqdand: ?
a) 1952

dp ee)Cn e aQee^:esr a;olJeJotu "adooaarbdd
a) aOecqfdd; b) mdfleoo$E c) {cnra: d)

56. London Smog occurred in the year

a) 1952 b) 1e86

b) 1986

c) 1962 d)

c) 1e62 d)

57. Chlorine added to water acts as a
a) Disinfectant b) Absorbent c) Coaguiant d)

Iren Sqfbf ui) -..bi,ild.rJarbg; ?

a) t'r"recd: imdd b) &,eodsdgi c) adcdour d)

The thickness of the ozone layer is measured using unit of
a) Newton b) Joule c) Dobson d)
l;Qraeo' dddd dfldqd"d draddddludxdood: sdoJ:md:$d l
a) do.*r b) z$er c) aaz-1o" d)

59" Black soils are black in color owing to a high content of
a) Humus b) Sodium c) Potassium d) Copper
ddad:sod+b dqJnd 6r sodrl# uCdaoeon id;urarde)_*dd

a) dord:;n b) doead:o c) doe,er,toS:o d) oC;
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60. Due to incomplete combustion of fuels from petro engines, the gas liberated is
a) Carbon dioxide b) Carbon monoxide
c) ttJitrogen dioxide d) Sulphur dioxide
d0Sgeer "aode'rlqod.qodddd edodBear dddaomn ojDd t:ao g3d)rldclarbEd ?,l *oT:? fr""d"*,* b) auror d.,oo* ,a.c) sadegddd d, ud ,er $ d%d 

Q, =d^r#"
61. Chernobyl nuclear disaster occurred in the year

a) 1985 b) 1987 c) 1986 d) 1 eB8

d) 1988

62. Group of ineiividuals of ihe same species that share common aiiributes is calied

-14-

Cd.nerzoer dddnru ebdod oJDd ddrde)_dogJa:id ?
a) 1985 b) 1987 .c) 1986

a) Community
xodnd" rbeae-:dea;

ddo$e:rbdd;'
a) idxoat*'

63. Acid rain is caused by
a) CO and CO, b) SO2 and O,
esd: d:S Cn$dood en:ouorbdd ?
a) CO ab* CO2 b) so2 ** o,

64. organisms which feed on dead and decaying matter are called

d,rasc::gdrd eceFd #!dd ai:eej sdsoz,ldmd *ea

eoD dQQ{du8eoJrffiR &erioC ddotr:qd
,) d*S uoed b) dusoerar c) $rdoe&ctD

b) Population c) Ecorype d) Society
dddldoaiE"qd z,oCe zw8o$ dsdd d:oddladoet:

b) addoai, c) adoe$a"

c) SO, and NO,

c) SO, d:dl NO2

d) ddnw

d) NO2 and O,

a) Omnivorous
c) Carnivorous

a) d{ afid> agrd edeoa3d dea
c) dno;cmao

65. Whooping cough is medically known as
a) TB

b) Detrivorous
d) Herbivorous

dlo.r,3&

dnoraao

b) Pertosis c) pneumonia

b)
d)

d) No2 *Q o'

d) Allergy

d) erexr

A
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66. National Tuberculosis Research lnstitute is located at

a) Hyderabad b) Ahmedabad c) Jaipur d) Bangalore

or& eo$ dc$uced ioueefroa dec(d; "aO* na^ado$O---U -. 
"I 

--- ---t-'--,- w . *.il
a; *raotilar b) e{enmer -c) 

€dd d) z,Sorldod:

67. Reverse osmosis is a tyPe of

a) Dead end filtration system b) Cross flow filtration system

c) lon exchange method d) Microfiltration

ods"r erryx," go3:*J:: rod: afraaC
a) eodrdO-doeiod aA"d b) ed*d6rt?ta ?qd
c) eoJno" .ttrdeof aA"d d) dofuand doeioad

68. Ozone depletion was first observed in

a) Arctic region b) Antarctic region

ci southern hemisphere d) Northern hemisphere

aooo-oddmd e- ild o e o" s;r6 edd ead do ds ?rl o ri "a O-rb d:8i en col$ 
.

a) ua.ru:u" $Ced b) cosm6"F-uJa'{ded

c) dW rLoemfrr ) .,uqd rioevat'r

69. The diseases caused by the lead in humans

a) Asthma b) Pneumonia

c) Loss of memory d) Bronchitis

:,eidr Cr$4&ri_pot"l: al>ad:d doeri

a) er{d> b) dt,tueicJ:
c) rodd ds d,:ood d) moidoed dnodd

70. Which of the following is a vector borne disease ?

a) Tetanus b) Diabetes c) Cancer d) Dengue

dr dddodddsj0-aJDd)C: *ee"ldqod ddd:d doeri ?
a) d&;sarotu b) d:d:&ed c) arr{o d) don wgd
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